£ 4T TFYLRH (MIYE YY)

Mae . 243Z0| 80| - DS - DEW

ro

—+ Safety Guaranteed < Easy Repair & Check
+ High Performance and High Quality

- DR - WERENES - Bt BRE
--{RETE - FETNEHS Mt REFF

Outward Drawing/4} 2R/ ARIE @ 8 =

o0

! @GHE |

oF
BE h7

X ol Fl SN e UKo =2

¥ Maximum turning speed is based onactual measurment

Specifications /4F&/ TR/ AL &

Spec. Al Order NO Cylinder Dia Piston stroke Piston surface area Max.Draw bar pull
ors ARG LAEAEZT AE SHHY o A &3 KN(kgf)
Model®A mm mm Push 2= Pull 1= Push &= Pull Q1%
YASC-100 2ASC10 105 20 865 795 31.8(3244) 29.3(2989)
YASC-125 2ASC12 130 25 1325 123.0 488(4978) | 453(4621)
YASC-150 2ASC15 150 30 176.0 160.0 64.8(6610) 60.0(6120)
YASC-200 2ASC20 205 35 330.0 306.0 121.6(12404) | 112.8(11505)
YASC-250 2ASC25 250 60 490.2 457.7 79(18400) 169(17 200)
 SpecA¥ | Max.operatingpressure | Maxpermissibe speed Total leakage Weight GD? Matching chuck
AR QU HIAIRSE He scooly 5 Moment of inettia e
ModeAl kaf/ci r.om(min”) 2 /min kg N (kgf.m) e
YASC-100 40.8 6000 1.0 7.0 0.49(0.05) CAS-06
YASC-125 40.8 6000 1.0 9.8 0.88(0.09) CAS-08,CAS-10
YASC-150 40.8 5500 1.0 13.3 1.47(0.15) CAS-10,CAS-12
YASC-200 40.8 5500 1.0 21.7 3.62(0.37) CAS-15 0|4}
YASC-250 40.8 2000 1.0 - - CAS-4050 63
Dimension/R~F/ < EE/X ¢+ &
vogag ™ G D E F G L1 L2 L3 L4 L5 L6 | L7max L7min 1 T2

YASC-100 135 100 80 30 21 | 1985|1645 81.5 37 154 35 45 25 | 6-M10X19  M20XP2.5
YASC-125 160 130 110 35 25 20851745 91.5| 37 164 40 50 25 | 6-M12X22 | M24XP3.0
YASC-150 185 130 110 45 30.5 | 2155 | 181.5| 98.5 | 37 171 45 55 25 | 6-M12X20  M30XP3.5
YASC-200 | 245 145 120 55 37 239 | 205 | 122 37 | 1945, 60 69 34 | 6-M16X29 K M36XP4.0
YASC-250 | 314 | 282 160 65 46 283 | 256 | 166 46 249 67 85 25 | 6-M12X30 | M42XP3.0

x xi4 U Ajofe ouglo] HZE 4 AsLCE

% Specificalions are subject o change without rotice.

I
=
g
0
>
cC
—
(@]
)]
<
C
Z
g
m
X






